
4 trialproc gocue.bmp gocorrcue.bmp {‐/} 100

1 trialproc gocue.bmp nogoincorrcue.bmp 100

4 trialproc nogocue.bmp nogocorrcue.bmp 100

1 trialproc nogocue.bmp goincorrcue.bmp {‐/} 100

4 trialproc gocue.bmp gocorrcue.bmp {‐/} 200

1 trialproc gocue.bmp nogoincorrcue.bmp 200

4 trialproc nogocue.bmp nogocorrcue.bmp 200

1 trialproc nogocue.bmp goincorrcue.bmp {‐/} 200

4 trialproc gocue.bmp gocorrcue.bmp {‐/} 300

1 trialproc gocue.bmp nogoincorrcue.bmp 300

4 trialproc nogocue.bmp nogocorrcue.bmp 300

1 trialproc nogocue.bmp goincorrcue.bmp {‐/} 300

4 trialproc gocue.bmp gocorrcue.bmp {‐/} 400

1 trialproc gocue.bmp nogoincorrcue.bmp 400

4 trialproc nogocue.bmp nogocorrcue.bmp 400

1 trialproc nogocue.bmp goincorrcue.bmp {‐/} 400

4 trialproc gocue.bmp gocorrcue.bmp {‐/} 500

1 trialproc gocue.bmp nogoincorrcue.bmp 500

4 trialproc nogocue.bmp nogocorrcue.bmp 500

1 trialproc nogocue.bmp goincorrcue.bmp {‐/} 500

weight procedure cue target correctanswer SOA


